— IR R AR B FET R =

B & B &%
SHSE3HA31HERAE (BEf: M)
g B od £
I EEDE
1. REVEE
B 1,581,943
TETEE (ERERBHERT) 499,623
ERETEE (E R ERAE L3RR 1,526,388
T ETEE (F R e sk FR) 58,047
LTREE (EHRBEXE) 1,767,434
EHTEE 2,000,000
Kob iR E O E 0
RINE (Hhigh E k) 306,798
FIGHER 0
RBEESE 7,740,233
2 BEEE
(1) EKBFE
EHEE
EAREESE
(2)HEERE
BRI E HTEE
(= tRERAR R 723,410
BEEES 723,410
BE&EESE 723,410
BESRT 8,463,643
I 8EDH
1. REIARE
i€ (Mg sE L) 389,835
FHGHER OhEEMEE) 228,000
FEYUE (Mg iE L) 0
it IIN=Li=N=¥-18 617,835
2 BE&E
BEHSTEILTES
5=y 723,410
BEEEEEE 723,410
a8E&5 1,341,245
IERREAE 7,122,398




